Year 3 Spring 1 Maths Activity Mat 3

Section 1

correct answer.

Match the calculations to the

Section 2
Write and solve the following
as a multiplication number

Section 3
There are six pairs of wellies in
one family. How many wellies

Section 4

What would you do
to find the sum of two
numbers?

statement. are there altogether?
2x6 24
3+3+3+3+3-=
8x3 20
5x4 12
Section 5 Section 6 Section 7 Section 8

Write a fraction bigger
than 1.

A bike shop has 48 bikes for
sale, and 33 being repaired.
How many bikes are there
altogether?

What comes next?

4[ 8! 12' ) )

Draw a line that is 23cm long
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Year 3 Spring 1 Maths Activity Mat 3 - Answers

Section 1 Section 2 Section 3 Section 4
Match the calculations to the Write and solve the following There are six pairs of wellies in th_lt would you do
correct answer. as a multiplication number one family. How many wellies to f”};d tf})e sum of two
statement. are there altogether? umbers:
2x6 24
3+3+3+3+3-=
8x3 ' 20
5x4 12 5x3=15 12 Add them together
Section 5 Section 6 Section 7 Section 8

Write a fraction bigger
than 1.

numerous answers
including: 1 2

A bike shop has 48 bikes for
sale, and 33 being repaired.
How many bikes are there
altogether?

81

What comes next?

4,8 12, 16 20 24

Draw a line that is 23cm long
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